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���	 ���� '������������( �� �� �� � ����

������  ���� � ��� �
� � �� �� ����� � ���������&���

����� ���� �� �� � �� ������ � ����� � ��� �� � �������-

������� &��� �� � �����
�� ���� �� ���� � ����� � ���

����
� ������ � �  ��� 
 ,��� ����������� ���� >

2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41,

���


,������� ������� �������� � ��� ������ � ��������

�������
 *��� ��� ����������� ��� � ���& ��� �����

	
 *���
�� ���  �  ������0
���� ���� ��������� 3&

��� � �  �� ����� 3&������ ��������� 5&��� � �  ��

����� 5
7���1 �� ��������� � ����� ���
�
/ ����� ��

� ��� �&���������


���������
���� ,��� ���� �������� ��� ������ � :� ����

���� 
���� �������- ������� '� ���-��� �� � �� ���� ��� ��

� ��� �� :� �����(
 *����������� n  ���� �� � ���� �� ��

�� � � �����������- ��� �� � �������- ������� '�������

�� 1 ���n(
 C � ��� �� �� � � ��� �� �����  � ��� ��

n
 / ��� � �& � �� � � �� �  ���������& ��� �� �� ���

�� � �� ���� ���� ����  � ��� ������� ��� �� � �� ��� ��

��+� � �� ��� �� &�� � � � � ��:� ������ ��� ��
3�� ��

����:� ���� � ��� ������ ���� � � ��� & ���� �� � �� � ���

������� �� � ���� ��� � ������ � ��� 
 3  ���� �� �  �

����� &� ��� ������ �� ��0
� ��� � ������ 


% � �
30 = 2 · 3 · 5, 16 = 2
4, 71 = 71 '��� ��

� ��� �(&6936 = 2
3 · 3 · 17

2


/ �� ���������� �� ��� � ��� � � � � �� � ������� 	�����

���	��	���&�������� �������� �� ��� :� ������� 
��� ���

��������� � �� �� �� �� � ��� ����� � ��- ����- :� ����� 


������ �� ���� 9 ���0
�  � ������ ������� ��� ���

�� ���� ����������� � ��� ��� ��� �� ��� � ����� � ��� �� 

������� � 
9��� �� �� ��  ������� �����
��  � �� � ����

���� �� � ��� ��� �� �� ��� ��� ���� �� � �� �� ����� &�

%1



���
� ���� � ����������

���������
�� �� ������ ���� ���� �- ���� �� �� � ���  �

� ���� ����F

2����� �� �� �� ���� � ��� ��� ��� ��> � � ��� ��� ��- ����

���� ��� ���� �
��  ����G )��� �� �������� �������

�� ���0
�&� ���� � ������ ������� �������� ���� � ��� �G

% � ��� � ��� ��� ������� �� � ���� �&� �� � �� �� ��0


���
�� � �� � ���
� � ������ ��� �


������ � �
= �


/ ������ �� �� � ��� ��- ������� � � ��� ���� �
��

 ����
 ������ �� � ��� � � �� � ���� �� �� ��� �� �-

� � ���� �
� �����
 ,� �� � �- �� ���� �
��  ����&

����  ���� � ��  �������� �  � �- ��� � � �������

��������������� ����� ���� P
 9� �����  ���� �

���� ��1&�� ��� ������  � ���� Q = P + 1
 7��

��0
��� Q �� � � � �� � ��- !���� �
��  ����$� ��� ��-

������� &���� ������ � ��� �
*���� �� �� ���� � ��

��������� ���� �� � ��� ��- ������� 
3��� ����� ���� ��

 ���  � � ����� ���� Q ���� ���������� ����� �� !���

�� �
��  ����$ � ��� ��- ������� ��� �� �� �� ��<���� �

�� ������ �� �� �� �� �� � 1
3 � �� ���� ������� ��� �
� �&

���� �� ��� � ��<��
����� � � � ��� �
 ���� �� � ��

������ ���
��� " ��  ��� ����� ��� �&� ����
*���� ��

� ��� ��� � ���� �� �� ��� ���� ����� 
,��� ��- �� �������

��� ���� �
��  ����


����� � �� �����!
��� =����� �� ���0
�� ���� ��� ��� ��

����G

,�� � ��������� ��� ��
����� �����H ���� ������ �����

�� 	
��
������ ��� �� �� ����257 885 161 − 1
/ �

� � 17 425 170 ���  ��� �� &� ������� �� �� 	B
���

���
��� 	
��
���� � ���������� 
� ������ ���� +��� ��

� �� � � � � �������� � �� ��0
� ����� �� �
��� �� 
= � �

�� �� �� � �� �� �� ���� � G 3 ����
����:�� � ���
� � 5 ����

�� H��� � ��� �EE@
� ������� � ������5 )2,* ��

� ���� �� ������ � ��� ��- �������  �+� 2��������� 

������� � ��� � �� � � � �:���� �� �� � ��-�
'2������

������������� � ��������������� 2
n − 1 �������

�� ���- � ��� ��
( *�  � � � ����������� �� ��� � ������

������
��� � ���� �


 �����
9 ����� � ���- �@ ������

��������� 14 2���������- � ��� ��- ������� &�� ����-

�� 11 ����� �������� �����0
� ��������� �+� � ��� �� 

������� � ��� 0
�


� ������ ��������	���	��� ����� ����
������ '����

 ���& 	
�	
( �� ��� � �  �� �� �� 5 )2,* ������

2�������� ���� � 12 978 189 ���  ��� �� & �� �� �

�� � ��� �� � � � �� �� � �� ���
 3���� � � ���-��������

� � � ���� ��� � � �������������� �
��� ����� ������

�� ��� �� �� �




 ���� �� F % � � �&�  ����
�� ���

��� ���� ���� ���� 
��� ���
�����
 1 ������� 1 ����� ����

'�1 1 (&���� � � �� ���� �� ���� � �� �� �������� �� ���

�������&� ������� �� �� �� ��� �� ��� � ��� � ���� +�

� ��� ����� � �� �� �
  ������� ���  ��� �� 
 ',����

���� �� �1 1 �� � � �� � � ��� ��� �� �� � ��� ������  ����

������  ��� �� � ������ �� B



 ���� �� &� ��� ��

�� ��� �� �� ������ ���� ���� � 5 )2,* ������ �EEE
(

% ��� �� ��� �� �� �

  ������� ���  ����� ��� ��� �

 ��� �� ���� ������ �
��� �� �� ��������� 
 )�������

�B



 �	




 ���� �� 
2����� �� � ����� � ��G

�*�� ��0
�� �����
������ !��������� $ �� 	
��
G �

����
� �� �� � ��� ��
� ���� �� � � ?
 ���� �� � � .
��� �

 ��� �� � �����&�� �� � ����� ��� ��� ����� ����� �� ��

������ �� 6 223 � ��� ��
�
 *�� ���� ���� � �� ���

���� � �


"��������� �������� 2��� ����� � �� ����� �����

����� ��� �� G � ��
� � �� �� ���� ��� ���- ������ � � �

�� �&�� ��� ������� � 2
C ������ � �� �� ��� ����� �� 2


;� �� �� !� ��� ����� ����$� �  � 2 �3


3����� � �� ����� ��� � ��� ����� ��0
  ��� ����� ����

�� &�� �
 11 �13&29 �31&71 �73
 %���& �+��� &

���� ��� �� � � ���� �� � � ���� ���- !����� �� 
� $ ���

� ���� �
��  ���� ����� � 
 � � � �� ���
���&  �+�

������� �  � ��� ��  ����� ��� � � �� ���- � � ����

3 424 506


3  ��� ���
� � 	�� ��� � ��� �� ��� � ��� ����� ����� ����

��G %�  ��� ��� �������� ���� ��� ���- ��� ������� � 3


,������� �F3�� ��0
 � �������n ���� ������� � 3&����

���� �� �� �� �� � 1 ���2
3�� �� �� �� �� � 1&�� �� �������

��0
���� � ���(n+2) � � � �� �� �� � 1+2 = 3&�� ���

0&� � �� ������� � 3
3�� �� �� �� �� � �� n ��� 2&�� ��

���0
���� � �������(n + 4) � � �� �� �� � 2 + 4 = 6&

�� ��� ������� �� � 3
� ��� �� ����
� �� ���
�� �� ���� �

����������� � 3&� � ���� ���� ��� ��


����� �� � ������ ���&� ��� ������F)� � � �  � � ���������

����� �����
�> � �� �������� ������ ������� � 3&� � ���

����� �� � ��� �F 9� �� � �  ���� 3
 3 ������� ���

��� � ��� ����������� � � 5 �7&������&�� � �� ��� �&

�� ��+�� � ��� ��F 3��(3, 5, 7) �� �������� �� � ����
� �


3�� � �� � � �������� (1, 3, 5)&� �������������� ��� 1

���� � ��� �F

���� ��������� ����� �� �� �� ����� � ��� ��� � �� ����

���� ���- 100 ��� � ��� ��- ������� �� � �  �+� ��� �

� ����������&� ������ �� ��� �G

%� ���������	
�� �
���
���� � 	 �����



,������&� ��� �� �� ���� 
� � � � n = 101! '��
� ���

����� ���- 101 � �������- ������� (
9 � �� � n ������� ��

� 2&3&4&5&


� � � �� �� 101


%�� n + 2&n + 3&n + 4&n + 5 ���
��� �� n + 100&

n+101 ��� �� ������ ��� � ��� ��- ������� ������ � �����

�� ���������������F= � �� ��G C ������� ���
% � �
&

n + 2 ������� �� � 2 ��� � � ��� �
�� �� �� � ��������

� 2
% � ������ �� �
���n + 3 ������� � 3&n + 4 � 4&

n + 5 � 5 ��� ���
� n + 101 � 101
 C ���� �� 

������ ���� ���� �� ��� ��  ���0
� �� 0
�200 ���

500 ������� ������ ��� � ��� ��- � �������- ������� ����

�� � ����������


#�������� $������ �������� 8 ������ �� ��� ���

� ��� ��� � ������ ��� :�� ��� � ���� ���� ����� �� �� �

� ��������� �� ������ �����&� �� ��������������� �����

��� ���� � ��� �
 % � �� � ���� �� �
�� ��� � �����

���� ��� ���������� ����� � ��� � ����
 3���� � �� ����

����� ��� :�� ��� ���� �� �� �� � � ������ � �� ���& ��


� ������ ����� �� ������ ������� ��������
3 ���� ��

���������� :�� ��� ���� ���� ��� ������� ��� �� ���-���

���� �
��� �� ��� � ������ � ���� ��
 �� �� � �� � ����  �

������� � ����� �� :�� ��� �� �������� ��� � ��� ��-

������� ���� ���� � ����  ���� ������������� �� ��

���� �
��� �� ��
,������ � � ���� � �� ���� � ���� �� ��

� ��������>

%�� $��� ������ )� ���� �� �� �� � ��� ��- ������� ���

� ���� �
��  ����  ���� ������ ��������� �� � ������

� ���- n � ��� ��- ������� ���0
� ��� ���� ������� � ��� �


) �� ���� &� ��
��� � �� ��� ���0
� �� ��0

;� n = 1 � � �

 � � �  � ���� � � ��� � ����& ��� � � ���& � �� �� 	


���� �� �  � �������� � � ��� �������
;� n = 2

� �  � 2·3+1 = 7&� ���� � ��� �
;� n = 3 � �  �

2 ·3 ·5+1 = 31&�� ��+�� � ��� �&�� � ��� n = 4&�� �

�� ������  � 2·3·5·7+1 = 211
� ������ ��� � ��� �

��� n = 5 �� �� � �  � 2 ·3 ·5 ·7 ·11+1 = 2 311


) �� �� �� � �  � � � �������� ��  ����� ���&���� ��

n = 6 �������� �30 031 ������ � ������59 · 509&� �

��� :�� ��� ���� ��� �� �� �  � -�����


��������� �������� ,����� �� 1 �� � �'��� �@
�
"

�@@B
( ��� �� :�� �
�� �� � �� � ���
� �
,� ��� � ��

������� � ���
1 �� � ��������������� ���� �
��� � �

��<����  � ��� ��>F(n) = 2
2

n

+ 1&���� �� n � �����

�� �����
/ ��� �� ������ �� � � � ������ ��� ���������&

��� � � � ��� ��F(1) = 2
2 +1 = 5, F(2) = 2

4 +1 =
17, F(3) = 2

8 +1 = 257iF(4) = 65 537
3����0


������0
�����F(5) = 4 294 967 297 �� �� �� ����� ��

�� 1 �� � � ��� � ���� �� ���� ��� ������ �������- ����

������� ':� ����� (
 *�����0
� � ������ ����� �� ������ ��

�� F(5) ������� � � 641
 '9 � � � ����������  ���� � ��

�� �� ����������� �� �
��� ��� F(5) ���� �� �� �����

����&� ���� ������� ���� ��  ���� ���� �� ���� � �0
�

�������- ����� �� �� ��������
��� 
(

3 �� �� �� ���
� ������0
�- 1 �� � ����- ������� &�� ���

���� 	
�

� ���� �� �� �� � � ������������� F(5) ��

F(32)&� ���
� � �� ���� ���  � �� � ���� ��� � �� �

�� � ��� �� :� �����&� �� ���� � �  � ����� ��
��
;�

F(20) �F(24) ���  � �
���� ������� ���� � � ��������&

� ���� ���  � ������ ��� ���-���- :� ����� F

&�������� '(� 8 ���-� �� ����� '�.
.
"�.#�
( � ���

 ������ �� �� �� ���� ���>

P(n) = n2 − n + 41 .

;� � �� � ������� ������� n < 41 �� P(n) � ��� �

����F ;� ���� & P(1) = 41, P(2) = 43, P(3) =
47, P(4) = 53, P(5) = 61 '� ��� ���
����  � � ����

������ BE(&P(6) = 71 ���
 3��P(41) = 41
2& �� ��

�� �������� � 41
 �� ���& ���� �������� ��� :�� ��� &

����
� �� ����� &��� � �  � ������ � ��� ��� & � ����

�� !����� ����� �$�� �
� � � ���- 40 � �������- ������� F

������� ����  ��������� 1 �� ��� ���� ��������

� �  � � ��� �� ������� ���� �� ��  ���� �������� �� ��

���� &�� �� �� �� �� ���� ����
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